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qraT=a 3397 ;

G) @t yoT fAard & | 39 ¥97-97 § FT 27 ¥7 8 | Fo7-97 wia @usl 7
fayrfsra & 1

(i) @U8 I § Jo7 G&IT 1 -5 % J9% Y97 Uk 3b & & | A% J97 & I
20 52 @ 3718 787 §HT =IET |

(i) @UE & § Y97 G&IT 6 — 10 % 3% Y97 1 37l &1 & | b J97 HT IH
40 szl & 371er% 787 F97 T0ET |

(iv) @UE T H J97 G&I7 11 — 16 T% b 97 TR bl H7 & | Ie9F 97 HT I
100 viscT @ 371 781 &1 T30 |

(v) @S 7 H Y97 G&IT 17 - 21 % Yo 97 Giel 37H] &7 & | I9F 97 HT ITH
150 55t @ 37feres 757 &1 FIfT |

(i) @Y T § Y97 §&I 21 HHGT W SYIRTG I3 & | 59 I 39T
FT-GiEdT 4 1e7iEe |

(vii) @UE T § Y97 G&IT 22 - 27 TF 9% Yo7 B: 3H] H1 & | Yedb J97 HT I

150 155 @ 3718 757 &7 T3T |

General Instructions :

(i) All questions are compulsory. This questions paper has 27 questions in
all. There are five sections in this question paper.

(it)  Section A contains Questions number 1-5 of one mark each. The
answers to these questions should not exceed 20 words each.

(iti) Section B contains Questions number 6 - 10 of two marks each. The
answers to these questions should not exceed 40 words each.

(iv)  Section C contains Questions number 11- 16 of four marks each. The
answers to these questions should not exceed 100 words each.

(v)  Section D contains Questions number 17 — 21 of five marks each. The
answers to these questions should not exceed 150 words each.

(vi) In Section D, Question number 21 is a map-based question. Write its
answer in your answer-book.

(vii) Section E contains Questions number 22 - 27 of six marks each. The
answers to these questions should not exceed 150 words each.
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Qs A
SECTION A

sk foam 4, Fefaled 0 @ w9t foamu dsw@ 8 3t = — ufvaht
T3SYA 1 TN AT Gl T3 i ? 1
In your opinion, which one of the following ideologies is better and why —

the ideology followed by the Western alliance or that of the Eastern
alliance ?

1970 % ¥ H Te-UE oAgian et Frfafigd oAl § @ SH-H HUd
3! fommeam @ o 787 @rarn ? 1
(%) Ig TS AT Wewra o foeg o |

(@) 98 3 < it 3nfdfer Tadzrar o foiw srEiRa o |
() 3H SFeTe Ud qeerd ot fifd o s feun |
(9) 39k Goed on foret off &fveh ey | Wi A& 7Y |
BPE)
Sftq Fg wat FAfaafiga oMl § 9 HH-A1 SeH HTT 8 ? 1

3

() 384 Th SN faza g 1 o= fearn |

(@) ¥ < AEWIRAT & o =g Ig o |

(71)  IE TRl AT Hifedd TSl % s faeagl off |

(9) 39k SR foRieh TSTEAi o ¥ & S 3T T hHl B T TS |

Which of the following statements about Non-Aligned Movement during
1970s does not match with its ideology ?

(a)  The organisation was against racial discrimination.
(b) It worked for economic independence of small countries.
(c) It promoted the policy of isolation and neutrality.
(d)  Its member countries did not join any military alliance.
OR
Which among the following statements about Cold War is false ?
(a) It led to the outbreak of another world war.
(b) It was an ideological war between the two super powers.
(c) It was a competition between the US and the Soviet alliances.

(d) It triggered an arms race among countries of rival alliances.
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e TYh TS I % AU e ‘st Sreg 1 M R ST B, di

ST 1 A 3§ ? 1
HAAAT
‘STTRYE S T | R Aty R 2 1
What does the word ‘America’ signify when it solely refers to the USA ?
OR

What is meant by the phrase ‘Operation Desert Storm’ ?

4. 30 Marg (Wea A1) TR yeRr gt Mg (Tiea aRY) @ i g 2
TS HIT | 1

How is Global North different from Global South ? Explain.

5. “Sfeu e = gt g foum @ 98 stfug gg ool widf & i & faeft |7
Teh ITYTH b g 39 A <h gfee il | 1

“The real challenge to Indira Gandhi came not from the opposition but
from within her own party.” Support the statement by giving one
appropriate argument.

@uEq
SECTION B
6. ITUYUHR & o fZ@TcHes Teid I 91 € RISl o 1Y &9 hl GThR
Sy U I ? 2

How did the Russian government deal with the two republics that had
violent succession movements ?

7. U8 IR g gl B ggee I S g0 99 i T TsgUsT €Y od

. 1

2 | 4=
3teran

1962 H WRA 3N =4 & i Hiw god w1 g HRO 4 @ & Rl TG

HIT | 1x2=2

Identify four common symbols that make the European Union look like a
nation state.

OR
Identify the two regions which were the actual basis of the border conflict
between India and China in 1962.
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10.

11.

1950 o <Xk H WRA TSHIfA o 38 Shicd ol hIUE JUTAl =01 <hal T & 2

I3 & %Rl ey | I1x2=2
STerET

foamam qen SEmE % YN W YR SHEY 379 el 9 i o1 | 8 @

SWIRH qeh ¢kt 39 YA hI gfse Hhifvw | 1x2=2

Why has the period of Indian politics in the 1950s been described as the
‘Congress system’ ? Give any two reasons.

OR

Bharatiya Jana Sangh was different from other parties in terms of
ideology and programmes. Validate the statement by giving two relevant
arguments.

IS o TTHIOT A e hl TTOAT T foriy R femam 2 2
AT
R <ht s srefesracen yorett i fohmel o1 fomiwarsti &l IR AT | 1x2=2
Why did the villagers of Orissa protest against setting up of industries ?
OR

Highlight any two features of the system of mixed economy in India.

1971 % HeAafy gTET % ggerd sfeq e At el % fore sererht fonedl
2l STl 1 T HITT | 1x2=2

Assess any two factors that were responsible for Indira Gandhi’s
popularity after the mid-term elections of 1971.

Qs u
SECTION C

MeeE gRI Geel o T8 MgH 3R Gari ol AR i o JATEl oh S69g,

HiferRrd |9 1 foered =il g311 ? hig TR SR T2 AT | 1x4=4
3T

1970 % ¥ T Tiferd sqaan shi AfeehTsr Femati ol U shi ATavehdl FIi

gl ? I3 IR HIU T HIT | Ix4=4
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Why did the Soviet Union collapse in spite of Gorbachev’s accurate
diagnosis of the problem and his attempt to implement reforms ? Explain

any four reasons.
OR

Why did most of the institutions of the Soviet system need reforms
during late 1970s ? Explain any four reasons.

12. gl @ 3IcEwon 6 ggmdar @ 8 wfts o ®9 § STHOh g% okl 9uid
Describe US hegemony as a hard power, with the help of any two

examples.

13. 1947 @ 2001 % si=, Tfehta™ | ST qAT Alehds o IREIIEh THTE <hl SRS
HIfT | 4

Explain the interplay of military and democracy in Pakistan from 1947

till 2001.
14. 9RUREh e Hifd o fordl =) It i =ame i | Ixd=4
arera
o fova g o Tv=rq TR G STSRIRT W 9 T@AA <l % THE W ATe!
FR&q1 Sl fohegl IR Il shi = it | Ix4=4

Elaborate upon any four components of traditional notion of security.

OR

Explain any four security challenges facing the newly independent
countries of Asia and Africa after the end of the Second World War.

15. vt o faeg g s @ 334 are fohegl =) ekl o1 adieor shifv | Ix4=4

Examine any four arguments against globalisation that have emerged

from all over the globe.
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16. YA ¥ 9¥ 1975 W I 7T I ATITARIA o fohea] IR GO S 3Thet

Hhifs | I1x4=4
Srqa

1977 % TGl H, HIG U o Th fashed & &9 U, ST UGS b WA I

TR ST | 4

Assess any four consequences of the national emergency imposed in the

year 1975 in India.
OR

Evaluate the emergence of Janata Party as people’s alternative to the
Congress Party in the elections of 1977.
LCLC
SECTION D

17. =9 fou MU sra@or w1 eamyEs stemEd Hifve it fefafed w6 3@
fefeaw -

IE% o ITUYHT T AT a1 T & 8 L foram mam o
AQEH -8 ® M | 486 hHl G o 91G A U ok ALY
. S 4 G 91T 6 AqieT R wrEel 9 garg-Awfew fean | 3=
arn fop |t AT eIl A % ue H 7 | A, hiE qEE §d
ffdte Aar g7 U 3R 39 W@ 9 oW & YuH T 99 | el I uew
& 9 3N I5® & AGHSA H Hs Gl db Tl @ ¥ | IRl Al St
foret forer o1 foarg 7 31 o | o el @l W AE® 3 W
S1E-4-531er TR Ba U 9 | el e Trerht etk fagia fser % fotw
afrg 9 |

(i) 98& hl g % I STUMTHR T Yo WA § A 8 o DR,

A o -8l Heg Tad 4G 5T ?

(i)  TerHl T 3IqTETOT gRI AT YA ShITT foh Tt SIgTgL et 79T fogra

fisat & foru uferg 9 |
(i) e % TUFETCE Sl § WA % @H I drel fhedl & ged HifaEt
! ITTR T | 2+1+2=5

AT
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ElE
=
F= ST T T T AHYEH AT hitwg, R FfcAfad Tt o IW
g -
3feq Wieht o O 92 9 T © UoHid § a@fsha off, dfed
FRIgL el < Afmed | og FA fodl § Wl ug W off | HE % afts
JqTAT 7 UG T8 Greehl 3Rl qEed TR B T w3
Teiifaeh AMEe § @™ 39d 1 84 o HR gHeH 3 foun-fgsm &
foru gfew wieft 39 W el @ | gum O 99 % U 91 & 3TeR st
e Y ik wH % gATEl H 9l hl SETS B U | 96 ok d o¥
&1 oTfees feufa oft ot @we &1 % oft | 39 3feu i sfemsar s
¢ e | 34 HISATSI! o HeAoRK I8 U1l W 391 faevr sgre 31t 319e
Aqcd iz i fg@™ i HIf il |
(i) 1966 T W i G o qvE, 3fQU T K Wi, HUF 9l kR
1= s =1 3 guH Wt % ug % fofu g @en 2
(i) 39 99Y ¥ <hi e feufa o6 e =@ & fou, sfen e gro i
g forgl Q1 fiferma Tgetl o1 Tase il |
(iii) 1967 % FAEI o T, 3feU e 3 U1 Fgca HivrA HH fo@rn o
9T o TG AT el ol ohdl Hele@ foham ? HIs 31 30 GNT | 1+2+2=5

Read the passage given below carefully and answer the following

questions :

The ease with which the succession after Nehru took
place proved all the critics wrong. When Nehru passed away,
K. Kamraj, the President of the Congress Party consulted party
leaders and Congress Members of Parliament and found that
there was a consensus in favour of Lal Bahadur Shastri. He
was unanimously chosen as the leader of the Congress
parliamentary party and thus became the country’s next Prime
Minister. Shastri was a non-controversial leader from Uttar
Pradesh who had been a Minister in Nehru’s cabinet for many
years. Nehru had come to depend a lot on him in his last years.
He was known for his simplicity and his commitment to

principles.

59/5/1, 8



1) Which two fears of the critics were proved wrong by the easy

succession after Nehru’s demise ?

(i) Give any one example to prove that Lal Bahadur Shastri was

known for his commitment to principles.

(iii) Highlight any two major challenges which India faced during

Shastri’s Prime Ministership.
OR

Read the passage given below carefully and answer the following

questions :

While Indira Gandhi had been politically active for
very long, she had served as a minister under Lal Bahadur
Shastri only for a short period. The senior Congress leaders
may have supported Indira Gandhi in the belief that her
administrative and political inexperience would compel her to
be dependent on them for support and guidance. Within a year
of becoming Prime Minister, Indira Gandhi had to lead the
party in the Lok Sabha election. Around this time, the economic
situation in the country had further deteriorated, adding to her
problems. Faced with these difficulties, she set out to gain

control over the party and to demonstrate her leadership skills.

) Which senior leader of the Congress Party contested for the post of
Prime Ministerial candidate along with Indira Gandhi after
Shastri’s death in 1966 ?

(ii)) Explain any two policy initiatives taken by Indira Gandhi to

control the economic condition of the country at this time.

(iii)) How did Indira Gandhi assert her leadership skills and consolidate
her position within the party after 1967 elections ? Give any two

examples.

59/5/1 9 P.T.0.



EIGE
;ﬁE’ﬁ f= fou U s w1 eamyde TerEA e ot frfefed ywEl % I
faf -
R fafim <ol i TR W 3ol B Al 3 wEQl hl
uftorfa 59 @19 & Torifaes Bl | 39 woer # stfiekie 0§ foR feRelt
Teh < i TIHR TIhT U GHIGH ehel &H T T8I L Tehall | 39
I9E ¥ ¥ Ha fovgaeHifa &1 feem &9 Sa € | wafeRer qen
TTehfceh FETEHT & Hraf-ad Hoe T 3 Tel 31 § qorifae & |

()  IdHHE o gl & qataRer el Uil bl ug=E hIfvu |

(i) 39eh fomm ®, gafawe & fAefientor 1 Yo & foq 9 @ faga
STYTT AT Fohdl & ?

(iii) 9T 7Eal o foreal @ ‘Torifaes” aftomat =1 favaw hifsie | 142+2=5
AUAT

f= fou U s w1 emYde T hive o fefafed yeE % I
fefia -

IRd 4 gefl-amed (fet) & @wsidl o fhareae &1 &
JRIarhd 1997 § fham | 5ot g fisehd o8 ot o fosprasfiar <uni
&1 TRt sat W T R sifafes foeft domem qen qafewr & dey
o Sg @fed g arell Senfiehl gaan wue i foen o i wnefew
Tifd T g R | YRA 3@ O H wed Aear @ % fawfaa gw
fosrasfia <ot i foaxfia o qon = Mefiehl gaam - &
foTT QT 3UT L ATMeh Torehresiiel ¢¥1 9, 0H.T%. &8, (UNFCCC)
1 HISIET Tfcergarati sl 9 T Feh |

() I E.THHEHH. (UNFCCC) & faeqd ®9 fafEn |
(i) Ak, & idta fopesia o i HeE Sfaagared w

ISR HIT |
(i) Torrasia <o foria SEemt 9o Wog (TAE-Tq%d) TRNfEhl
Tt s1at 9 1 a1 HEHT 918 § ? 1+2+2=5
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Read the passage given below carefully and answer the following

questions :

(i)
(i1)

(iii)

If the various governments take steps to check
environmental degradation ...., these issues will have political
consequences in that sense. Most of them are such that no
single government can address them fully, hence they have
become a part of ‘world politics’. Issues of environment and

natural resources are political in another deeper sense.

Identify any two of the present day environmental concerns.

In your opinion, which two principles can be adopted to check

environmental degradation ?

Analyse any two ‘political’ consequences of environmental issues.

OR

Read the passage given below carefully and answer the following
questions :

(i)
(i1)

(ii1)

A review of the implementation of the agreements at the
Earth Summit in Rio was undertaken by India in 1997. One of
the key conclusions was that there had been no meaningful
progress with respect to transfer of new and additional
financial resources and environmentally-sound technology on
concessional terms to developing nations. India finds it
necessary that developed countries take immediate measures to
provide developing countries with financial resources and clean
technologies to enable them to meet their existing commitments
under UNFCCC.

What is the full form of UNFCCC ?

Highlight the existing commitments of the developing countries

under UNFCCC.

Why do the developing countries want transfer of financial

resources and eco-friendly technology on concessional terms ?

11
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19. = fu Tu srEamo w1 eHgds stewE Hifve i fefafgd g % 3@
forfgu .

i)
(ii)

(iii)

3M3d GIh o URY H WRA o Heg 9 ¥ oo adqr ardt o
fohre GRS & dgd Wed e, o iR HERrsg & 9 are]
THer 3 3ITh! TEh Al W 30 9, 135 WA a7 3,000 B
Y S 1 TEAE W@ T | T[S0 o TER FUeT 3T 7L I¢I
THS WAR WY o &9 H § H9E FS IR ag-Iy qi@S st
Fgtor fopan | 9der 98 & s=E ° Ader S=e Aedd 9T | 39
eI 3 Sie o i w1 fotg T | Ader s=neT sTeieH 31
e o fAmior & gy o § 9 W@ faee qf@sHieT & i
T off TeTer 33T @ R

THe o1l °§ IR <hl TS AgxaTehieft IS w1 A fafau |

qHeT I8N eI o Gishd hRhdIS g/ 39 IRASHT o foy &

33T T fehedl g1 el i TIse SHIfT |

el SIS TGO b YRH ¥ B 36 GRSl % foliy i 3 9 qE

& TY F=A ST T 2

1+2+2=5

Read the passage given below carefully and answer the following
questions :

@)
(ii)

(iii)

59/5/1,

An ambitious developmental project was launched in the
Narmada valley of central India in early eighties. The project
consisted of 30 big dams, 135 medium sized and around 3,000
small dams to be constructed on the Narmada and its
tributaries that flow across three states of Madhya Pradesh,
Gujarat and Maharashtra. Sardar Sarovar Project in Gujarat
and the Narmada Sagar Project in Madhya Pradesh were two of
the most important and biggest, multi-purpose dams planned
under the project. Narmada Bachao Anadolan, a movement to
save Narmada, opposed the construction of these dams and
questioned the nature of ongoing developmental projects in the
country.

Name the ambitious project launched in the Narmada valley.

Explain any two concerns raised by the activists of Narmada

Bachao Andolan against this project.

Since its inception, why did the Narmada Bachao Andolan link its

oppositions to this project with other larger issues ?

12



20. = fou T o 1 eamyEs stemE shifae qen frmfafad gt % s fafan

()  fean gon foa form w @ waifea B 2 9% < foret wardia o e 2 2
(i) 39 foa # fou @ -4 9 o, Gaf4a <o Sl 959H T H G8EH | ?
(i) g gl g o= guild § ? 1+2+2=5

Study the picture given below carefully and answer the following questions :

1) The given picture refers to which country ? Name the continent
where it is located.

13 P.T.O.



(i1)

(iii)

Identify the two symbols in this picture which help in the
identification of the country ?

What do these two symbols depict ?

iz :  FAEET 97 Fac FIRETad qagmdar & 107G, 397 8120 F 9 WE

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 20 :

(20.1)

(20.2)
(20.3)

(20.1)

(20.2)

(20.3)

T Tl TS TAATS 9T deshlee AdT <71 13U fohd 291 9§ Tafd
S 239 291 1 QU AW TR ?
39 R o AT fash® W, 37 Q1 Ad1ed 1 g ANGH R A ?

fomr o fe@mn T B |ARE S P Ushd BT T R R T

29 1+42+42=5

Premier Zhou Enlai and the then leader Deng Xiaoping
belonged to which country ? What is the complete name of this
country ?

What was the main contribution of these two leaders in their
country’s economic development ?

Why is the little man shown in the picture trying to stop the
dragon ?

21. WRA % U T o W@AERE (T8 16 W), H uE TSA R
@, ®, ©, © qn ® g ot = | Y @ T THER F SMER W =

TS bl ga IV 3T T0l IW-YfEaeht § o @@l M, T i T8
SRR oh1 ShH EEAT AT Hafd 31&R, e @ 75 dfoiehl o &9 4 fafa

59/5/1,

W!ﬁﬁﬁm T AGR | TSI T AW
SHH-HEAT

(1)

(ii)

(iii)

(iv)

v)

14



) At Tt 7o & wefia TS |
(i) o8 Tsg o e usd sifeaca & foiw ergre fomar |

(i) 9% TSI gl FISl a1 Hist T &d @ |

(iv) 98 TS @l drmare wsiian g3 |
(v) o8 Usa 58 v gfaam gro famiy et fear mn 2 )

Ix5=5

In the given political outline map of India (on page 16), five States have
been marked as @), @), ©, O and (B). Identify them on the basis of
the information given below and write their correct names in your
answer-book with the respective serial number of the information used
and the concerned alphabet as per the following format :

Sr. no. of the
information used

Concerned
Alphabet

Name of the
State

(1)

(i1)

(iii)

(iv)

v)

(1) The State associated with Anti-Arrack Movement.

(i1)  The State which saw movement for separate national existence.

(111) The State where the Bodo and Karbi communities live.

(iv) The State where Longowal Accord was signed.

(v)  The State which has a special status given by the Constitution of

India.

15
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T 9. 21 & fow For question no. 21

U T {T-AHH (TS TR )

Outline Map of India (Political)
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EIEEEI
Ef - * .
Fig : FHECTRGT F97 #acl FIEamaa qherfdEal & g, 397 e 21 & €& |

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 21 :

(21.1) TSl o st ¥ gefyd Ty 1 9 fafey |

(21.2) AR # fopm T 1 Srer Ui arfedea % forw sriciem fema 2
(21.3) YA I HIH-A1 TSI SIST qAT HLe TR & FEd g ?

(21.4) 38 TS 1 AW fafan &t drmare g9l ga |

(21.5) 3T URA % I TST hl TgaH hivie 8 31=ag 370 o 3

e et fear w2 | I1x5=5
(21.1) Name the State which 1is associated with Anti-Arrack
Movement.

(21.2) Which State saw movement for separate national existence in
the North-east ?

(21.3) Which North-eastern State is associated with Bodo and Karbi
communities ?

(21.4) Name the State where Longowal Accord was signed.

(21.5)  Identify a northern State which has special status under
Article 370.

Qs g
SECTION E

22. i g wa # foQet T g ST I AT ‘SO’ W qeh | 1 SAHI

B 239 T o {ohral &l ATHI o1 U ShIfTT | 2+4=6
AT
M Yg 1 =W foirg e S a1l a1 s Hehe” sl Ui I | 6

What is meant by the logic of ‘deterrence’ as followed by the rival
alliances during Cold War period ? Describe any two advantages of this
logic.

OR
Describe the ‘Cuban Missile Crisis’, which was a high point of what came
to be known as the Cold War.

59/5/1 17 P.T.0.



23. TOYH TS GLaA Uit o fIw Rd <t Tewrdn o U § g | aeh e | U
fohegl 1 SRRl HT Jeoi@ hHINT T YRA I TR Ge@rar & qnf d «reeh

2 | 3+3=6
3t

TIH TSZ G99 <hl SH1Ee, kAT T =AREHR Bl Sgal s9 & fore fomedi o=

U T 9uia HIfT | 2x3=6

State any three arguments in support of India’s candidature to the
UN Security Council. Specify any three factors that obstruct permanent
membership status for India.

OR
Describe any three reforms which may improve the structure, process
and the jurisdiction of the United Nations .

24. 1947 § WaAdT % G UNETd, YA i BB ¢ H & T hl AUEAT &,

FANH THR 7 Y UHT ? 6
e

TR YR W 3T TSAl o (U101 bl | o, YRd TTHR 4 YW d o=

e &l fohan 2 3@ fofg o @ wfom fepet 2 3+3=6

How did the interim government prevent possible division of India into
small principalities immediately after independence in 1947 ?
OR

Why were the demands for creation of separate states on linguistic lines
initially not accepted by the Indian Government ? What were the effects
of this decision ?

25. BNd shifd o 9 TehRIcAesh 3 9 TehrrcHss ol &1 fagawo hifsie | 3+3=6
YT
“fedfiar geadffa IoMT o 3TdTd die ST W g fear T 9ur e 9 %
e gid | doil & IRadd o1 d&d @1 T4 |7 3STEN bl Tgdl 8§ e
i gfee Shifs | 6

Analyse three positive and three negative consequences of the Green
Revolution.

OR
“The Second Five Year Plan stressed upon rapid industrialization and
aimed for quick structural transformation of the nation.” Justify the
statement with the help of illustrations.
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26. “1962 % WRA-TH g 7 WRA I B P < qA fogw gHi H g e |7
T AT 39 hAT U HgAd & ? fehegl dI9 dehl @RI 394 IR ol II=d

3allgu | 2x3=6
AT

Ifg 3meh! e fgd § 9Ra At fogw ifd & 8 itads & &1 T e, a

3T -8 4 qiEd gema ? 2x3=6

“The Indo-China war of 1962 dented India’s image at home and abroad.”
Do you agree with the statement ? Justify your answer with any three
arguments.

OR

If you are given a chance to make some changes in India’s foreign policy
keeping into mind our national interests, suggest any three such changes.

27. U9Ta § wfq Sl TATUAT T AET SEE AE o1 | 39 fum W 1984 ® 1997 I
oAU TTT SRITET T HeTeR SHIRT | 6
rere
“2004 % WIh THT FATE! % UREN URA H FF THEA AN Igd-H HEE h
FMES[E, AMUHA TSHIfdh call H Th HeAd-H IR To 18 |7 fhegi o
STH Tohl g 39 HY T U HINTT | 2x3=6

The road to peace in Punjab was not an easy one. Evaluate the efforts
made in this direction from 1984 to 1997.

OR

“In the midst of competition and conflicts, a consensus appeared to have
emerged among most political parties in India after the Lok Sabha
elections in 2004.” Validate the statement with any three suitable
arguments.
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